
10155 10155.5 10156 10156.5 10157
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

4−

3.5−

3−

2.5−

2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

1−

0.5−

0

0.5

1

de
lta
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4e

Y

delta46_12X4eY:cyclenum {run == 8016}
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8015
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8016
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8017
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8018
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n

run:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

0

0.5

1

1.5
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segment:cyclenum {run == 8016}



10155 10155.5 10156 10156.5 10157
cyclenum

85−

84.5−

84−

83.5−

83−

us
l_

1X
usl_1X:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

2.5−

2−

1.5−

1−

0.5−
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l_

4a
Y

usl_4aY:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

12.5

13

13.5

14

14.5

us
l_

4e
X

usl_4eX:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

22

22.5

23

23.5

24

us
l_

4e
Y

usl_4eY:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

42−

41.5−

41−

40.5−

40−

us
l_

12
X

usl_12X:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

8014

8014.5

8015

8015.5

8016

8016.5

8017

8017.5

8018
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n

run:cyclenum {run == 8016}



10155 10155.5 10156 10156.5 10157
cyclenum

133−

132.5−

132−

131.5−

131−

us
r_

1X

usr_1X:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

us
r_

4a
Y

usr_4aY:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

175

175.5

176

176.5

177

us
r_

4e
X

usr_4eX:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

42.5−

42−

41.5−

41−

40.5−u
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usr_12X:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

8014

8014.5

8015

8015.5

8016

8016.5

8017

8017.5

8018

ru
n

run:cyclenum {run == 8016}



10155 10155.5 10156 10156.5 10157
cyclenum

16554

16554.5

16555

16555.5

16556

us
l_

co
il1

usl_coil1:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

2384

2384.5

2385

2385.5

2386

us
l_
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il3

usl_coil3:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

5923

5923.2

5923.4

5923.6

5923.8

5924

5924.2

5924.4

5924.6

5924.8

5925

5925.2

us
l_

co
il4

usl_coil4:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

3452.4−

3452.2−

3452−

3451.8−

3451.6−

3451.4−

3451.2−

3451−

3450.8−

3450.6−

3450.4−

3450.2−
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l_

co
il6

usl_coil6:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

5316.5

5317

5317.5

5318

5318.5

us
l_

co
il7

usl_coil7:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

8014

8014.5

8015

8015.5

8016

8016.5

8017

8017.5

8018
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n

run:cyclenum {run == 8016}



10155 10155.5 10156 10156.5 10157
cyclenum

15268.5−

15268−

15267.5−

15267−

15266.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

1971−

1970.5−
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1969.5−

1969−

us
r_

co
il3

usr_coil3:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

6645.5

6646

6646.5

6647

6647.5

us
r_

co
il4

usr_coil4:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

3065.4−

3065.2−

3065−

3064.8−

3064.6−

3064.4−

3064.2−

3064−

3063.8−

3063.6−

3063.4−

3063.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

34520.5

34521

34521.5

34522

34522.5

us
r_

co
il7

usr_coil7:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

8014

8014.5

8015

8015.5

8016

8016.5

8017

8017.5

8018
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n

run:cyclenum {run == 8016}



10155 10155.5 10156 10156.5 10157
cyclenum

122.8−

122.6−

122.4−

122.2−

122−

121.8−

121.6−

121.4−

121.2−

121−

120.8−

120.6−

1X
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l1

1X_coil1:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

11.5

12

12.5

13

13.5

1X
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l3

1X_coil3:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

213.6

213.8

214

214.2

214.4

214.6

214.8

215

215.2

215.4

215.6

215.8

1X
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l7

1X_coil7:cyclenum {run == 8016}
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cyclenum

233.8−

233.6−

233.4−

233.2−

233−

232.8−

232.6−

232.4−

232.2−

232−

231.8−

231.6−

4e
X
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4eX_coil1:cyclenum {run == 8016}
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cyclenum

24−

23.5−

23−

22.5−

22−

4e
X
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4eX_coil3:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

240

240.2

240.4

240.6

240.8
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241.2

241.4

241.6

241.8
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4e
X
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4eX_coil7:cyclenum {run == 8016}
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cyclenum
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292.5
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4aY_coil4:cyclenum {run == 8016}
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cyclenum

112.8−

112.6−

112.4−

112.2−

112−

111.8−

111.6−

111.4−

111.2−

111−

110.8−

110.6−

4a
Y
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4aY_coil6:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

41.5−

41−

40.5−

40−

39.5−
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Y
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oi
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4aY_coil7:cyclenum {run == 8016}
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cyclenum

271

271.5

272

272.5
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4e
Y
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4eY_coil4:cyclenum {run == 8016}

10155 10155.5 10156 10156.5 10157
cyclenum

142.4−

142.2−

142−

141.8−

141.6−

141.4−

141.2−

141−

140.8−

140.6−

140.4−

140.2−

4e
Y
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4eY_coil6:cyclenum {run == 8016}
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cyclenum

35−

34.5−

34−

33.5−
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Y
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4eY_coil7:cyclenum {run == 8016}
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X
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12X_coil1:cyclenum {run == 8016}
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cyclenum

89−

88.5−

88−

87.5−

87−
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X

_c
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12X_coil3:cyclenum {run == 8016}
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cyclenum

5−

4.5−

4−

3.5−

3−
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X
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12X_coil4:cyclenum {run == 8016}
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cyclenum
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6.8
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12X_coil6:cyclenum {run == 8016}
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cyclenum
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X
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12X_coil7:cyclenum {run == 8016}
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n

run:cyclenum {run == 8016}
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